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' The figures in the margin indicate
Jull marks for the questions.

1. Fill in the blank with correct answer :
1x10=10

(a) Definitionn of ‘Contract’ is found in
section of the Indian Contract
Act: [2(h)/2(e)]

(b) Proposal is the element for
~formation of contract. (first/third)

(c) Minoxf ﬁs incompetent to contract as per
sectipn _ of the Contract Act.
(11/12)

Contd.



(d) Section
" of free consent.. (13/14).

(e) - Unlawful Agréements are fdund,under

section ___ .of the Contract Act.
(22/23) :
() Thereare__: ~ kinds of agreements
declared void by the Contract Act.
.(seven/eight)

(@) Quasi-contracts have distinctive

<" features. (three/four)"

(h) Chapter of the Indian Contract
Act deals with the performance of
contract'. v/v) '

(i) vCont~1;act1..1al' liability of Govt. is
enshrined in Article _ of the
Constitution of India. (299/300)

: provides the definition -

() Broadly speaking, injuncti«mé may be”

. of _ _ kinds. (two/four)

Answer the following :
(a) Definitiori of Consideration

(b)_Coercion

(c) Void Agréement
(d) Novation "

(e) Injunction.

What do you mean by confract ?What are
essential elements ? Bricily discuss them.
4+8=12

or

| What is| acceptance of proposal ? Discuss

the various modes of acceptance of offer.
: g - 4+8=12

. Who are persons incapable to enter into
contract under the Indian Contract Act ?
Discuss suitably. . . 12

Or

What is free consent ? Discuss the factors
which vitiate the free consent.  4+8=12

3x4=12

(i) Agreement in restraint of marriage. -

Discuss the following :

(i) Agreement in restraint of legal
proceeding. '

_ (iij) Wagering Agreements.
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Oor
What do you mean by = v 3x4=12
() Forbidden by law |
(ii) Defeating the provision of law

(iij) Injurious to person or property.

Discuss the various modes of discharge of
a contract.. To12

Or

Write an exhaustive note on Quasi-contract.
12

" Discuss the contractual liability of Govt. in
the light of constitutional provisions.
Whether sach liability is different from
liability under the Contract Act. Elucidate
your answer. | . - 8+4=12

Or

What do you mean by temporary injunction ?
When it can be granted in a suit and what
are pr...-gzondiﬁons required to fulfil to obtain
the relief ? ./ 4+4+4=12
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